Base L	ine Item	Detail			PKF-Ma	ark III, Inc.	Griffin	Sign Inc.	Agate Constru	uction Co., Inc.	IEW Construc	ction Group, Inc	J. Fletcher Crean	ner and Son, Inc.		uction Company,	Gardner N	Л. Bishop Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	1D01LAY	1	L.S.	Construction Layout	\$40,000.00	\$40,000.00	\$50,000.00	\$50,000.00	\$150,000.00	\$150,000.00	\$136,016.66	\$136,016.66	\$100,000.00	\$100,000.00	\$200,000.00	\$200,000.00	\$150,000.00	\$150,000.00
2	1D10MOB	1	L.S.	Mobilization	\$652,000.00	\$652,000.00	\$475,000.00	\$475,000.00	\$650,000.00	\$650,000.00	\$700,000.00	\$700,000.00	\$605,000.00	\$605,000.00	\$800,000.00	\$800,000.00	\$825,000.00	\$825,000.00
3	1G01SCH	1	L.S.	Progress Schedule	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$1.00	\$1.00	\$16,500.00	\$16,500.00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00
				Fuel Price Adjustment (This is a NO BID, Lump Sum item for this contract. The Lump Sum price is \$9,000. Enter a Unit Price of														
				\$9,000 as your														
4	1HFP009	1	L.S.	bid item for this item.)	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00
5	2B02REX	2,660.00	C.Y.	Roadway Excavation, Earth	\$54.00	\$143,640.00	\$50.00	\$133,000.00	\$20.00	\$53,200.00	\$66.68	\$177,368.80	\$40.00	\$106,400.00	\$80.00	\$212,800.00	\$75.00	\$199,500.00
6	2B15STS	1,701.00	C.Y.	Stripping Topsoil	\$10.00	\$17,010.00	\$20.00	\$34,020.00	\$0.01	\$17.01	\$21.42	\$36,435.42	\$18.00	\$30,618.00	\$15.00	\$25,515.00	\$50.00	\$85,050.00
7	2C01EMB	855	C.Y.	Embankment, Common	\$39.00	\$33,345.00	\$40.00	\$34,200.00	\$10.00	\$8,550.00	\$34.06	\$29,121.30	\$65.00	\$55,575.00	\$37.00	\$31,635.00	\$50.00	\$42,750.00
8	2C02EMB	1,080.00	C.Y.	Embankment, Grade A	\$43.00	\$46,440.00	\$50.00	\$54,000.00	\$20.00	\$21,600.00	\$64.95	\$70,146.00	\$90.00	\$97,200.00	\$73.00	\$78,840.00	\$65.00	\$70,200.00
9	2H00007			Heavy Duty Silt Fence, Black	\$5.50	\$42,790.00	\$7.00		\$10.00	\$77,800.00	\$6.05	\$47,069.00		\$46,680.00	\$10.00	\$77,800.00	\$8.00	
40		420		Inlet Filter, Type	¢400.00	¢42,000,00	\$200.00	¢00,000,00	\$200.00	¢20,000,00	£470.00	¢22.000.00	¢200.00	¢00,000,00	Ф250 00	\$45,500,00	Ф00E 00	
10	2H00016 2H25TEC	900	Each C.Y.	Hay Bales	\$100.00 \$1.00	\$13,000.00 \$900.00	\$200.00 \$10.00	\$26,000.00 \$9,000.00	\$200.00 \$10.00	\$26,000.00 \$9,000.00	\$176.00 \$1.00	\$22,880.00 \$900.00	\$200.00 \$1.00	\$26,000.00 \$900.00	\$350.00 \$10.00	\$45,500.00 \$9,000.00	\$225.00 \$5.00	
				Dewatering														
12	N2H0006	4	Each	Basins Temporary	\$3,000.00	\$12,000.00	\$5,000.00	\$20,000.00	\$4,000.00	\$16,000.00	\$2,000.00	\$8,000.00	\$2,500.00	\$10,000.00	\$3,000.00	\$12,000.00	\$2,500.00	\$10,000.00
13	2K01TPF	5,390.00	L.F.	Orange Plastic Fence	\$2.20	\$11,858.00	\$3.50	\$18,865.00	\$4.00	\$21,560.00	\$2.42	\$13,043.80	\$2.50	\$13,475.00	\$10.00	\$53,900.00	\$8.00	\$43,120.00
14	2M00008	680	Ton	Disposal of Acid Producing Soil	\$36.00	\$24,480.00	\$100.00	\$68,000.00	\$40.00	\$27,200.00	\$51.69	\$35,149.20	\$140.00	\$95,200.00	\$55.00	\$37,400.00	\$50.00	\$34,000.00
15	3A07ABC	2,205.00	S.Y.	Aggregate Base Course, 6.5" Thick	\$12.00	\$26,460.00	\$15.00	\$33,075.00	\$10.00	\$22,050.00	\$23.03	\$50,781.15	\$25.00	\$55,125.00	\$26.00	\$57,330.00	\$25.00	\$55,125.00
16	3B21SUP	884	Ton	Superpave Hot Mix Asphalt 25H 64 Base Course	\$100.00	\$88,400.00	\$150.00	\$132,600.00	\$135.00	\$119,340.00	\$181.50	\$160,446.00	\$125.00	\$110,500.00	\$151.00	\$133,484.00	\$200.00	\$176,800.00
17	3B24SUP	399	Ton	Superpave Hot Mix Asphalt 19H 76 Intermediate Course	\$100.00	\$39,900.00	\$200.00	\$79,800.00	\$180.00	\$71,820.00	\$187.00	\$74,613.00	\$175.00	\$69,825.00	\$190.00	\$75,810.00	\$200.00	\$79,800.00
18	3B25SUP	452	Ton	Superpave Hot Mix Asphalt 12.5H 76 Surface Course	\$100.00	\$45,200.00	\$150.00	\$67,800.00	\$180.00	\$81,360.00	\$190.96	\$86,313.92	\$200.00	\$90,400.00	\$194.00	\$87,688.00	\$200.00	\$90,400.00

										600.102B					Pailroad Const	ruction Company,		
Base L	ine Item	Detail			PKF-Ma	ark III, Inc.	Griffin	Sign Inc.	Agate Constru	ction Co., Inc.	IEW Constru	ction Group, Inc	J. Fletcher Crear	mer and Son, Inc.		nc.	Gardner N	Л. Bishop Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
19	3B26TAC	455	Gallon	Tack Coat	\$17.00	\$7,735.00	\$10.00	\$4,550.00	\$1.00	\$455.00	\$1.10	\$500.50	\$5.00	\$2,275.00	\$7.00	\$3,185.00	\$5.00	\$2,275.00
20	3B55APA	1	L.S.	Asphalt Price Adjustment (This is a NO- BID, Lump Sum item for this contract. The Lump Sum price is \$4500. Enter a Unit Price of \$4500 as your bid for this item.)	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00
	JBJJAFA		2.0.	sid for time itemity	ψ1,000.00	ψ 1,000.00	ψ1,000.00	ψ1,000.00	ψ1,000.00	ψ 1,000.00	ψ1,000.00	ψ 1,000.00	ψ1,000.00	ψ1,000.00	Ψ1,000.00	ψ1,000.00	ψ 1,000.00	ψ 1,000.00
21	0004000	4 6E1 00	e v	Berm Surfacing, 3 Inches Thick	\$10.00	\$46,510.00	\$26.00	\$120,926.00	\$34.00	\$158,134.00	\$29.15	\$135,576.65	\$24.00	\$111,624.00	\$34.00	\$158,134.00	\$40.00	\$186,040.00
22	3C01BRS 3C03BRS	247		Berm Surfacing, Crushed Stone, 4" Thick	\$10.00	\$4,693.00	\$14.00	\$3,458.00		\$7,163.00	\$29.13		\$20.00	\$4,940.00	\$29.00			\$3,705.00
				Steel, Epoxy														
23	4A11RFS	143,816.00	Pound	Coated	\$1.00	\$143,816.00	\$1.90	\$273,250.40	\$1.00	\$143,816.00	\$1.59	\$228,667.44	\$0.01	\$1,438.16	\$1.50	\$215,724.00	\$1.50	\$215,724.00
24	4F00015	5	Each	Remove Existing Overhead Span Sign Structure Concrete in	\$8,000.00	\$40,000.00	\$10,000.00	\$50,000.00	\$12,000.00	\$60,000.00	\$19,858.72	\$99,293.60	\$20,000.00	\$100,000.00	\$15,000.00	\$75,000.00	\$25,000.00	\$125,000.00
25	4F11CSP	506	C.Y.	Structures, Pedestals	\$1,500.00	\$759,000.00	\$825.00	\$417,450.00	\$850.00	\$430,100.00	\$1,137.58	\$575,615.48	\$1,500.00	\$759,000.00	\$2,000.00	\$1,012,000.00	\$1,400.00	\$708,400.00
				Protective														
26	4P15PCS	1,545.00	S.F.	Coating	\$8.60	\$13,287.00	\$20.00	\$30,900.00	\$3.50	\$5,407.50	\$10.29	\$15,898.05	\$4.00	\$6,180.00	\$11.00	\$16,995.00	\$3.50	\$5,407.50
27	4P02PSS	446		Permanent Steel Sheeting, Type PZC12 30" Diameter	\$325.00	\$144,950.00	\$288.00	\$128,448.00	\$35.00	\$15,610.00	\$216.97	\$96,768.62	\$425.00	\$189,550.00	\$200.00	\$89,200.00	\$175.00	\$78,050.00
28	4ZL0001	3,784.00	L.F.	Drilled Shaft	\$345.00	\$1,305,480.00	\$450.00	\$1,702,800.00	\$400.00	\$1,513,600.00	\$483.72	\$1,830,396.48	\$375.00	\$1,419,000.00	\$475.00	\$1,797,400.00	\$550.00	\$2,081,200.00
29	4ZL01SDE	1	L.S.	Furnishing Drilled Shaft Drilling Equipment	\$345,000.00	\$345,000.00	\$250,000.00	\$250,000.00	\$1,000,000.00	\$1,000,000.00	\$337,000.00	\$337,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$400,000.00	\$400,000.00
30	4ZNI600	2	Each	Install Overhead Span VMS/VSLS Support Structure 65'-0"	\$9,500.00	\$19,000.00		\$40,000.00		\$24,000.00	\$22,074.22		\$25,000.00	\$50,000.00	\$20,000.00			\$40,000.00
31	4ZNI650	11	Each		\$9,800.00	\$107,800.00	\$20,000.00	\$220,000.00	\$12,000.00	\$132,000.00	\$22,074.23	\$242,816.53	\$25,000.00	\$275,000.00	\$20,000.00	\$220,000.00	\$20,000.00	\$

									Г600.102B					Railroad Constr	uction Company,			
Base I	_ine Item					•				uction Co., Inc.		iction Group, Inc		ner and Son, Inc.	Ir	nc.		1. Bishop Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
32	4ZNI700	8	Each	Install Overhead Span VMS/VSLS Support Structure 70'-0" Span	\$10,900.00	\$87,200.00	\$20,000.00	\$160,000.00	\$15,000.00	\$120,000.00	\$21,585.14	\$172,681.12	\$25,000.00	\$200,000.00	\$25,000.00	\$200,000.00	\$20,000.00	\$160,000.00
33	4ZNI800	1	Each	Install Overhead Span VMS/VSLS Support Structure 80'-0" Span	\$11,400.00	\$11,400.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$22,209.43	\$22,209.43	\$25,000.00	\$25,000.00	\$27,000.00	\$27,000.00	\$20,000.00	\$20,000.00
34	4ZNI850	5	Each	Install Overhead Span VMS/VSLS Support Structure 85'-0" Span	\$11,400.00	\$57,000.00	\$20,000.00	\$100,000.00	\$15,000.00	\$75,000.00	\$22,728.29	\$113,641.45	\$25,000.00	\$125,000.00	\$27,000.00	\$135,000.00	\$20,000.00	\$100,000.00
35	5A08PUD	3,183.00	L.F.	8" Pipe Underdrain	\$20.00	\$63,660.00	\$20.00	\$63,660.00	\$30.00	\$95,490.00	\$21.00	\$66,843.00	\$18.00	\$57,294.00	\$44.00	\$140,052.00	\$50.00	\$159,150.00
36	5A24PBD	450	L.F.	24" Bleeder Drain	\$10.00	\$4,500.00	\$30.00	\$13,500.00	\$25.00	\$11,250.00	\$26.00	\$11,700.00	\$30.00	\$13,500.00	\$42.00	\$18,900.00	\$30.00	\$13,500.00
37	5B24RC3	188	L.F.	24" Reinforced Concrete Pipe	\$50.00	\$9,400.00	\$110.00	\$20,680.00	\$70.00	\$13,160.00	\$78.65	\$14,786.20	\$50.00	\$9,400.00	\$80.00	\$15,040.00	\$80.00	\$15,040.00
38	5C01ND2	2	Each	Inlet, Type D2	\$3,000.00	\$6,000.00	\$3,500.00	\$7,000.00	\$4,000.00	\$8,000.00	\$3,698.75	\$7,397.50	\$4,500.00	\$9,000.00	\$5,000.00	\$10,000.00	\$5,000.00	\$10,000.00
39	5D10INC	32	C.Y.	Incidental Concrete	\$400.00	\$12,800.00	\$175.00	\$5,600.00	\$200.00	\$6,400.00	\$706.33	\$22,602.56	\$100.00	\$3,200.00	\$800.00	\$25,600.00	\$400.00	\$12,800.00
40	5F01VCA	225	L.F.	Concrete Curb, Type A	\$30.00	\$6,750.00	\$33.00	\$7,425.00	\$30.00	\$6,750.00	\$33.77	\$7,598.25	\$25.00	\$5,625.00	\$40.94	\$9,211.50	\$30.00	\$6,750.00
41	5H00004	9	Each	VMS Equipment Median	\$147,000.00	\$1,323,000.00	\$90,000.00	\$810,000.00	\$90,000.00	\$810,000.00	\$102,000.00	\$918,000.00	\$100,000.00	\$900,000.00	\$125,000.00	\$1,125,000.00	\$90,000.00	\$810,000.00
42	5H01CMB	554	L.F.	Concrete Median Barrier, Roadway	\$145.00	\$80,330.00	\$300.00	\$166,200.00	\$150.00	\$83,100.00	\$362.83	\$201,007.82	\$215.00	\$119,110.00	\$150.00	\$83,100.00	\$220.00	\$121,880.00
43	5H03CMB	1,452.00	L.F.	Concrete Median Barrier, Protection	\$125.00	\$181,500.00	\$300.00	\$435,600.00	\$130.00	\$188,760.00	\$237.27	\$344,516.04	\$220.00	\$319,440.00	\$180.00	\$261,360.00	\$220.00	\$319,440.00
44	5H30CRR	1,190.00	L.F.	Concrete Median Barrier Removal, Roadway	\$110.00	\$130,900.00	\$25.00	\$29,750.00	\$65.00	\$77,350.00	\$158.78	\$188,948.20	\$125.00	\$148,750.00	\$55.00	\$65,450.00	\$70.00	\$83,300.00
45	5100RGM	1	Each	Removal of Existing Ground- Mounted Sign	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$10,000.00	\$10,000.00	\$4,506.41	\$4,506.41	\$750.00	\$750.00	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00
46	5J00FGT	3	Each	Flared Guide Rail Terminal	\$2,100.00	\$6,300.00	\$1,700.00	\$5,100.00	\$2,500.00	\$7,500.00	\$2,332.00	\$6,996.00	\$1,950.00	\$5,850.00	\$2,400.00	\$7,200.00	\$2,500.00	\$7,500.00
47		10	Each	Parapet Connection,	\$1,600.00	\$30,400.00	\$1,500.00	\$28,500.00	\$2,300.00	\$43,700.00	\$1,745.70	\$33,168.30		\$26,600.00	\$2,100.00	\$39,900.00	\$2,500.00	\$47,500.00
48	5J01PCA	19		Type A Parapet Connection, Type B	\$1,600.00	\$30,400.00	\$1,500.00	\$3,600.00	\$1,600.00	\$28,800.00	\$1,745.70	\$3,960.00		\$4,500.00	\$2,100.00	\$28,800.00	\$1,000.00	\$47,500.00
40	5J01PCB	10	Lacii	Li Abe p	φ200.00	φ5,000.00	φ200.00	φ5,000.00	φ1,000.00	φ20,000.00	φ∠∠0.00	φ3,900.00	φ230.00	φ4,300.00	φ1,000.00	φ20,000.00	φ1,000.00	φ10,000.00

Base I	ine Item I	Detail			PKF-Ma	ark III, Inc.	Griffin	Sign Inc.	Agate Constru	ection Co., Inc.	IEW Constru	ction Group, Inc	J. Fletcher Crear	ner and Son, Inc.		ruction Company,	Gardner N	Л. Bishop Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
49	5J01RBG	8,748.00	L.F.	Removal of Beam Guide rail	\$1.00	\$8,748.00	\$1.00	\$8,748.00	\$1.00	\$8,748.00	\$1.10	\$9,622.80	\$3.00	\$26,244.00	\$5.00	\$43,740.00	\$8.00	\$69,984.00
50	5J51BGE	401	L.F.	Beam Guide Rail Element	\$10.00	\$4,010.00	\$10.00	\$4,010.00	\$10.00	\$4,010.00	\$11.00	\$4,411.00	\$10.00	\$4,010.00	\$10.00	\$4,010.00	\$10.00	\$4,010.00
51	5J51TTS	5	Each	Tangent Guide Rail Terminal	\$2,350.00	\$11,750.00	\$1,850.00	\$9,250.00	\$2,500.00	\$12,500.00	\$2,601.50	\$13,007.50	\$2,150.00	\$10,750.00	\$2,400.00	\$12,000.00	\$2,500.00	\$12,500.00
52	5J52ABG	12	Each	Beam Guide Rail Anchorage	\$650.00	\$7,800.00	\$500.00	\$6,000.00	\$600.00	\$7,200.00	\$715.00	\$8,580.00	\$600.00	\$7,200.00	\$1,300.00	\$15,600.00	\$600.00	\$7,200.00
53	5J52BGR	8,980.00	L.F.	Beam Guide Rail	\$20.75	\$186,335.00	\$17.00	\$152,660.00	\$25.00	\$224,500.00	\$22.83	\$205,013.40	\$19.00	\$170,620.00	\$22.00	\$197,560.00	\$24.00	\$215,520.00
54	5J53RRS	488	L.F.	Rub Rail	\$10.00	\$4,880.00	\$7.50	\$3,660.00	\$10.00	\$4,880.00	\$11.00	\$5,368.00	\$8.00	\$3,904.00	\$10.00	\$4,880.00	\$10.00	\$4,880.00
55	5J54BGP	108	Each	Beam Guide Rail Post	\$55.00	\$5,940.00	\$50.00	\$5,400.00	\$80.00	\$8,640.00	\$60.50	\$6,534.00	\$50.00	\$5,400.00	\$70.00	\$7,560.00	\$75.00	\$8,100.00
56	51/00004	2,490.00	L.F.	Chain Link Fence, Type II, 84" High	\$17.50	\$43,575.00	\$16.00	\$39,840.00	\$20.00	\$49,800.00	\$19.25	\$47,932.50	\$18.00	\$44,820.00	\$21.00	\$52,290.00	\$18.00	\$44,820.00
56	5K00001	2,490.00	L.F.	64 Flight	\$17.50		\$10.00	φ39,040.00	\$20.00	\$49,000.00	\$19.25		\$10.00				\$10.00	
57	5K00032	1,200.00	L.F.	Fence Removal	\$6.00	\$7,200.00	\$10.00	\$12,000.00	\$7.00	\$8,400.00	\$6.60	\$7,920.00	\$7.00	\$8,400.00	\$10.00	\$12,000.00	\$10.00	\$12,000.00
58	5K00004	4		Vehicular Gate, Type II, 84" High, 24' Wide	\$2,200.00	\$8,800.00	\$5,000.00	\$20,000.00	\$2,500.00	\$10,000.00	\$2,420.00	\$9,680.00	\$2,500.00	\$10,000.00	\$4,000.00	\$16,000.00	\$2,500.00	\$10,000.00
		110																
59	5K10MFN	110	L.F.	Median Fencing Concrete	\$38.00	\$4,180.00	\$75.00	\$8,250.00	\$40.00	\$4,400.00	\$41.80	\$4,598.00	\$40.00	\$4,400.00	\$75.00	\$8,250.00	\$40.00	\$4,400.00
60	5N04PCS	14	S.Y.	Sidewalk, 4" Thick	\$100.00	\$1,400.00	\$90.00	\$1,260.00	\$110.00	\$1,540.00	\$95.15	\$1,332.10	\$50.00	\$700.00	\$106.00	\$1,484.00	\$90.00	\$1,260.00
61	5P06PTW	8,650.00	L.F.	Pavement Striping, White 6" Wide	\$0.50	\$4,325.00	\$0.60	\$5,190.00	\$0.35	\$3,027.50	\$0.56	\$4,844.00	\$0.60	\$5,190.00	\$0.40	\$3,460.00	\$0.50	\$4,325.00
62	5P06PTY	4,325.00	L.F.	Pavement Striping, Yellow, 6" Wide	\$0.50	\$2,162.50	\$0.60	\$2,595.00	\$0.35	\$1,513.75	\$0.56	\$2,422.00	\$0.60	\$2,595.00	\$0.40	\$1,730.00	\$0.50	\$2,162.50
63	5P07REM	12,950.00	L.F.	Removal of Pavement Stripes (Hydromilling)	\$0.65	\$8,417.50	\$0.80	\$10,360.00	\$0.60	\$7,770.00	\$0.75	\$9,712.50	\$1.00	\$12,950.00	\$1.00	\$12,950.00	\$1.00	\$12,950.00
				Temporary Pavement	.		.				•	•					4	
64	5P10TMP	17,275.00	L.F.	Striping Furnish Field	\$2.10	\$36,277.50	\$2.50	\$43,187.50	\$0.30	\$5,182.50	\$2.31	\$39,905.25	\$0.60	\$10,365.00	\$2.50	\$43,187.50	\$3.00	\$51,825.00
65	5Q01FAL	1	L.S.	Office, Type A Maintain Field	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$41,676.44	\$41,676.44	\$40,000.00	\$40,000.00	\$70,000.00	\$70,000.00	\$25,000.00	\$25,000.00
66	5Q02MFA	20	Month	Office, Type A	\$1,700.00	\$34,000.00	\$2,000.00	\$40,000.00	\$2,000.00	\$40,000.00	\$2,179.65	\$43,593.00	\$2,000.00	\$40,000.00	\$1,400.00	\$28,000.00	\$2,000.00	\$40,000.00
67	5V01PIT	74		Test Pits	\$250.00	\$18,500.00	\$500.00	\$37,000.00	\$500.00	\$37,000.00	\$190.20	\$14,074.80	\$130.00	\$9,620.00	\$500.00	\$37,000.00	\$650.00	\$48,100.00
68	5ZO0018	825		Off-Site Disposal of ID- 27 Waste	\$43.00	\$35,475.00	\$125.00	\$103,125.00	\$100.00	\$82,500.00	\$31.35	\$25,863.75	\$150.00	\$123,750.00	\$65.00	\$53,625.00	\$65.00	\$53,625.00
69	5ZO0066	727	L.F.	Transite Duct Removal	\$15.00	\$10,905.00	\$150.00	\$109,050.00	\$100.00	\$72,700.00	\$42.79	\$31,108.33	\$15.00	\$10,905.00	\$80.00	\$58,160.00	\$35.00	\$25,445.00
70	6A00017	168		3" Rigid Metallic Conduit, PVC Coated, Exposed	\$52.00	\$8,736.00	\$85.00	\$14,280.00	\$75.00	\$12,600.00	\$80.08	\$13,453.44	\$75.00	\$12,600.00	\$73.00	\$12,264.00	\$170.00	\$28,560.00

					DI/E M	ata III. Ta a	0-:11:	0' 1		600.102B	IEW O	ation Ones Inc	I Flatakaa Ossaa		Railroad Constr	uction Company,	O = m.lm = m N/	I D'alana la a
	ine Item I			1		rk III, Inc.		Sign Inc.		iction Co., Inc.		ction Group, Inc		mer and Son, Inc.	Ir	nc.		1. Bishop Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION #2/0 A.W.G.	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
71	6A00077	9,667.00		Service Cable (600v)	\$6.00	\$58,002.00	\$6.25	\$60,418.75	\$5.25	\$50,751.75	\$5.78	\$55,875.26	\$6.00	\$58,002.00	\$6.00	\$58,002.00	\$6.00	\$58,002.00
72	6A00079	1	Each	Foundation, Type LC-T	\$6,300.00	\$6,300.00	\$3,500.00	\$3,500.00	\$2,800.00	\$2,800.00	\$2,970.00	\$2,970.00	\$3,000.00	\$3,000.00	\$2,700.00	\$2,700.00	\$5,400.00	\$5,400.00
73		7		Foundation, Type MC	\$1,400.00	\$9,800.00	\$1,000.00	\$7,000.00	\$900.00	\$6,300.00	\$957.00	\$6,699.00	\$900.00	\$6,300.00	\$870.00	\$6,090.00	\$1,400.00	\$9,800.00
	6A00080			Foundation,					·		·							
74	6A00081	1	Each	Type MC-T	\$4,200.00	\$4,200.00	\$1,800.00	\$1,800.00	\$1,700.00	\$1,700.00	\$1,848.00	\$1,848.00	\$1,750.00	\$1,750.00	\$1,700.00	\$1,700.00	\$2,800.00	\$2,800.00
75	6A00093	340		1 1/2" Rigid Non Metallic Conduit (Schedule 40)	\$12.50	\$4,250.00	\$13.50	\$4,590.00	\$12.00	\$4,080.00	\$12.93	\$4,396.20	\$12.00	\$4,080.00	\$12.00	\$4,080.00	\$12.00	\$4,080.00
76	6A00126	1	Each	Foundation, Type LC	\$5,000.00	\$5,000.00	\$3,600.00	\$3,600.00	\$3,500.00	\$3,500.00	\$3,740.00	\$3,740.00	\$4,000.00	\$4,000.00	\$3,400.00	\$3,400.00	\$4,600.00	\$4,600.00
77	6A00131	2,051.00		#4 A.W.G. Service Cable (600V)	\$4.00	\$8,204.00	\$4.50	\$9,229.50	\$3.25	\$6,665.75	\$3.41	\$6,993.91	\$3.50	\$7,178.50	\$3.10	\$6,358.10	\$3.00	\$6,153.00
78	6A00135	1		Foundation, Type T	\$7,000.00	\$7,000.00	\$1,000.00	\$1,000.00	\$850.00	\$850.00	\$880.00	\$880.00	\$900.00	\$900.00	\$800.00	\$800.00	\$1,400.00	\$1,400.00
79	6A01GWR	13,027.00		#1/0 A.W.G. Ground Wire	\$5.00	\$65,135.00	\$4.50	\$58,621.50	\$4.00	\$52,108.00	\$4.37	\$56,927.99	\$4.00	\$52,108.00	\$4.00	\$52,108.00	\$5.00	\$65,135.00
80	6A01SVC	1,628.00		#1/0 A.W.G. Service Cable (600V)	\$6.00	\$9,768.00	\$5.50	\$8,954.00	\$5.00	\$8,140.00	\$5.06	\$8,237.68	\$5.00	\$8,140.00	\$5.00	\$8,140.00	\$5.00	\$8,140.00
81	6A02SVC	4,180.00		#2 A.W.G. Service Cable (600v)	\$5.00	\$20,900.00	\$4.10	\$17,138.00	\$4.00	\$16,720.00	\$4.02	\$16,803.60	\$4.00	\$16,720.00	\$4.00	\$16,720.00	\$4.00	\$16,720.00
82	6A03RMU	947	L.F.	3" Rigid Metallic Conduit, Underground	\$36.00	\$34,092.00	\$50.00	\$47,350.00	\$35.00	\$33,145.00	\$38.50	\$36,459.50	\$37.00	\$35,039.00	\$35.00	\$33,145.00	\$30.00	\$28,410.00
83	6A03RNC	11,140.00	L.F.	3" Rigid Nonmetallic Conduit, PVC- (Schedule 40)	\$11.00	\$122,540.00	\$14.25	\$158,745.00	\$12.00	\$133,680.00	\$13.15	\$146,491.00	\$13.00	\$144,820.00	\$12.00	\$133,680.00	\$15.00	\$167,100.00
84	6A04GWR	7,498.00	L.F.	#4 A.W.G. Ground Wire	\$3.00	\$22,494.00	\$2.75	\$20,619.50	\$2.50	\$18,745.00	\$2.66	\$19,944.68	\$2.50	\$18,745.00	\$2.50	\$18,745.00	\$3.00	\$22,494.00
85	6A06SVC	3,778.00		#6 A.W.G. Service Cable (600V)	\$3.00	\$11,334.00	\$2.75	\$10,389.50	\$2.40	\$9,067.20	\$2.48	\$9,369.44	\$2.50	\$9,445.00	\$2.25	\$8,500.50	\$2.50	\$9,445.00
86	6A08GWR	1,187.00	L.F.	#8 A.W.G. Ground Wire	\$2.50	\$2,967.50	\$3.25	\$3,857.75	\$1.75	\$2,077.25	\$1.82	\$2,160.34	\$2.00	\$2,374.00	\$1.65	\$1,958.55	\$2.00	\$2,374.00
87	6A10GWR	35	L.F.	#10 A.W.G. Ground Wire	\$2.00	\$70.00	\$3.25	\$113.75	\$2.75	\$96.25	\$2.75	\$96.25	\$3.00	\$105.00	\$2.50	\$87.50	\$1.50	\$52.50
88	6A10RLM	1	Each	Lighting Manhole	\$6,300.00	\$6,300.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,350.00	\$9,350.00	\$9,000.00	\$9,000.00	\$8,500.00	\$8,500.00	\$14,000.00	\$14,000.00
89	6A11MLC	580		#10 A.W.G. Multiple Lighting Cable	\$3.00	\$1,740.00	\$2.25	\$1,305.00	\$2.25	\$1,305.00	\$2.20	\$1,276.00	\$2.40	\$1,392.00	\$2.00	\$1,160.00	\$1.50	\$870.00
- 50	UATTIVILO	000		3" Rigid Nonmetallic Conduit, PVC-	φο.σο	\$1,170.00	Ψ2.20	ψ1,000.00	ΨΣ.ΣΟ	ų 1,000.00	Ψ2.20	ψ1,21 0.00	Ψ2.40	¥1,002.00	Ψ2.00	ψ1,100.00	ψ1.50	ψο, σ.σο
90	6A13RNC	71	L.F.	(Schedule 80)	\$17.00	\$1,207.00	\$75.00	\$5,325.00	\$70.00	\$4,970.00	\$71.50	\$5,076.50	\$70.00	\$4,970.00	\$65.00	\$4,615.00	\$200.00	\$14,200.00
91	6A20GWR	5,112.00	L.F.	#2/0 A.W.G. Ground Wire	\$7.00	\$35,784.00	\$5.10	\$26,071.20	\$4.75	\$24,282.00	\$5.06	\$25,866.72	\$5.00	\$25,560.00	\$4.60	\$23,515.20	\$6.00	\$30,672.00
92	6A24JBC	63	Each	Junction Box, Type C	\$2,050.00	\$129,150.00	\$2,750.00	\$173,250.00	\$2,300.00	\$144,900.00	\$2,519.00	\$158,697.00	\$2,500.00	\$157,500.00	\$2,300.00	\$144,900.00	\$2,500.00	\$157,500.00
93	6A25JPS	5	Each	Junction Box, Type PS	\$2,900.00	\$14,500.00	\$3,500.00	\$17,500.00	\$3,300.00	\$16,500.00	\$3,564.00	\$17,820.00	\$3,500.00	\$17,500.00	\$3,300.00	\$16,500.00	\$4,200.00	\$21,000.00

D 1		D-1-!!			PKF-Ma	ark III, Inc.	Griffin	Sign Inc.		iction Co., Inc.	IFW Construc	ction Group, Inc	J. Fletcher Crean	ner and Son, Inc.		uction Company,	Gardner M	1. Bishop Inc.
Item No.	Unit Code	QTY	LINIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	Ir RATE	amount	RATE	AMOUNT
item No.	Offic Code	QII		#4/0 A.W.G.	RAIL	AMOUNT	KAIL	AMOUNT	RATE	AWOUNT	KAIE	AWOUNT	RATE	AWOUNT	KAIE	AMOUNT	KAIL	AMOUNT
94	6A40SVC	45,416.00		Service Cable (600V)	\$9.00	\$408,744.00	\$7.75	\$351,974.00	\$7.50	\$340,620.00	\$7.95	\$361,057.20	\$8.00	\$363,328.00	\$7.50	\$340,620.00	\$9.00	\$408,744.00
95	6B00062	1	Each	Load Center Cabinet, Type J	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,900.00	\$3,900.00	\$4,235.00	\$4,235.00	\$4,000.00	\$4,000.00	\$3,850.00	\$3,850.00	\$3,400.00	\$3,400.00
				Meter Cabinet,	# 0.000.00	A 00.000.00	\$0.500.00	407 500 00	A 4 000 00	\$00.000.00	A O 070 00	# 00 000 00	A 0.000.00	# 00.000.00	#4.000.00	# 00 000 00	A 0.700.00	#00 7 00 00
96	6B00063	11	Each	Туре Н	\$6,000.00	\$66,000.00	\$2,500.00	\$27,500.00	\$1,900.00	\$20,900.00	\$2,079.00	\$22,869.00	\$2,000.00	\$22,000.00	\$1,900.00	\$20,900.00	\$2,700.00	\$29,700.00
97	6B00078	1	Each	Load Center Cabinet, Type S	\$14,000.00	\$14,000.00	\$13,500.00	\$13,500.00	\$13,000.00	\$13,000.00	\$13,750.00	\$13,750.00	\$13,000.00	\$13,000.00	\$12,500.00	\$12,500.00	\$11,000.00	\$11,000.00
98	CEOAESD	99		Removal of Emergency Speed Warning and Speed Limit Sign System, Ground Mounted	\$8,000.00	\$48,000.00	\$2,500.00	\$15,000.00	\$2,500.00	\$15,000.00	\$4,286.34	\$25,718.04	\$5,000.00	\$30,000.00	\$6,200.00	\$37,200.00	\$4,600.00	\$27,600.00
96	6E04ESR	0	Each	wounted	\$6,000.00	\$46,000.00	\$2,500.00	\$15,000.00	\$2,500.00	\$15,000.00	\$4,200.34	\$25,716.04	\$5,000.00	\$30,000.00	\$6,200.00	\$37,200.00	\$4,600.00	\$27,600.00
99	6E05ESR	20		Removal Of Emergency Speed Warning And Speed Limit Sign System, Structure Mounted	\$12,000.00	\$240,000.00	\$1,575.00	\$31,500.00	\$3,200.00	\$64,000.00	\$5,225.00	\$104,500.00	\$20,000.00	\$400,000.00	\$6,325.00	\$126,500.00	\$6,000.00	\$120,000.00
100	6H140SMI	1		System Manufacturer Installation and Testing (This is a NO-BID, Lump Sum item for thiscontract. The Lump Sum price is \$135,000. Enter a Unit Price of \$135,000 as your bid for this item.)	\$135,000.00	\$135,000.00	\$135,000.00	\$135,000.00	\$135,000.00	\$135,000.00	\$135,000.00	\$135,000.00	\$135,000.00	\$135,000.00	\$135,000.00	\$135,000.00	\$135,000.00	\$135,000.00
				In-Pavement														
101	6J00001	423	Each	Wireless Sensor	\$750.00	\$317,250.00	\$1,150.00	\$486,450.00	\$1,100.00	\$465,300.00	\$1,138.50	\$481,585.50	\$1,100.00	\$465,300.00	\$1,035.00	\$437,805.00	\$1,350.00	\$571,050.00
102	6J00007	1	L.S.	Spare Parts	\$45,000.00	\$45,000.00	\$60,000.00	\$60,000.00	\$60,000.00	\$60,000.00	\$62,150.00	\$62,150.00	\$60,000.00	\$60,000.00	\$56,500.00	\$56,500.00	\$60,000.00	\$60,000.00
103	6J00017	27	Each	Variable Message Sign Installation	\$4,300.00	\$116,100.00	\$8,500.00	\$229,500.00	\$8,500.00	\$229,500.00	\$9,836.55	\$265,586.85	\$10,000.00	\$270,000.00	\$8,420.00	\$227,340.00	\$12,500.00	\$337,500.00
104	6J00018	27	Each	Variable Speed Limit Sign Installation	\$4,000.00	\$108,000.00	\$3,500.00	\$94,500.00	\$3,800.00	\$102,600.00	\$4,192.28	\$113,191.56	\$5,000.00	\$135,000.00	\$3,650.00	\$98,550.00	\$7,000.00	\$189,000.00
405				System Control Cabinet	фо осо ос	#50.400.00	# 0.050.05	#00 750 63	20.400.05	# 50 700 65	60.470.00	#FO 000 00	#0.000.00	# 54.000.00	# 4 000 00	#FO 100 03	64.000.00	# 400 000 00
105	6J00020	27	Each	Installation Transformer,	\$2,200.00	\$59,400.00	\$2,250.00	\$60,750.00	\$2,100.00	\$56,700.00	\$2,178.00	\$58,806.00	\$2,000.00	\$54,000.00	\$1,980.00	\$53,460.00	\$4,000.00	\$108,000.00
106	6J00023	17	Each	Type 37.5kVA	\$2,900.00	\$49,300.00	\$3,500.00	\$59,500.00	\$3,000.00	\$51,000.00	\$3,025.00	\$51,425.00	\$3,000.00	\$51,000.00	\$2,750.00	\$46,750.00	\$3,100.00	\$52,700.00

T600.102B

Page I	ine Item	Dotoil			PKF-Ma	ark III, Inc.	Griffin	Sign Inc.	Agate Constru	oction Co., Inc.	IEW Construc	ction Group, Inc	J. Fletcher Crean	ner and Son, Inc.		uction Company,	Gardner N	И. Bishop Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
				CCTV Camera,														
107	6J00024 6J00031	230		ITSS Mounted 2-Way Duct Bank, 4" HDPE Conduits Directional Drilled	\$9,300.00 \$390.00	\$148,800.00 \$89,700.00	\$12,500.00 \$115.00	\$200,000.00 \$26,450.00	\$12,000.00 \$120.00	\$192,000.00 \$27,600.00	\$12,760.00 \$123.20	\$204,160.00 \$28,336.00	\$12,000.00 \$125.00	\$192,000.00 \$28,750.00	\$11,600.00 \$112.00	\$185,600.00 \$25,760.00	\$11,200.00 \$250.00	\$179,200.00 \$57,500.00
109	6J00032	38		Wireless Access Point, ITSS Mounted	\$7,600.00	\$288,800.00	\$9,500.00	\$361,000.00	\$9,000.00	\$342,000.00	\$9,614.00	\$365,332.00	\$9,000.00	\$342,000.00	\$8,740.00	\$332,120.00	\$8,700.00	\$330,600.00
110	6J00049	696	L.F.	4-Way Duct Bank, 4" HDPE Conduits Directional Drilled	\$435.00	\$302,760.00	\$155.00	\$107,880.00	\$145.00	\$100,920.00	\$156.20	\$108,715.20	\$150.00	\$104,400.00	\$142.00	\$98,832.00	\$275.00	\$191,400.00
111	6J00068	17	Each	ITS Power Equipment, Pedestal Mounted	\$3,500.00	\$59,500.00	\$3,000.00	\$51,000.00	\$3,000.00	\$51,000.00	\$3,080.00	\$52,360.00	\$3,000.00	\$51,000.00	\$2,800.00	\$47,600.00	\$9,000.00	\$153,000.00
112	6J00071	15	Each	ITS Equipment Platform, Type 2	\$15,000.00	\$225,000.00	\$10,000.00	\$150,000.00	\$8,750.00	\$131,250.00	\$12,773.03	\$191,595.45	\$7,500.00	\$112,500.00	\$7,500.00	\$112,500.00	\$12,000.00	\$180,000.00
113	6J00073	3	Each	ITS Equipment Platform, Type 4	\$48,000.00	\$144,000.00	\$35,000.00	\$105,000.00	\$60,000.00	\$180,000.00	\$71,855.53	\$215,566.59	\$40,000.00	\$120,000.00	\$45,000.00	\$135,000.00	\$40,000.00	\$120,000.00
114	6J00074	2	Each	Removal Of Variable Message Sign System, Structure Mounted	\$3,200.00	\$6,400.00	\$20,000.00	\$40,000.00	\$5,000.00	\$10,000.00	\$5,362.50	\$10,725.00	\$10,000.00	\$20,000.00	\$5,000.00	\$10,000.00	\$3,500.00	\$7,000.00
115	6J00076	27	Each	Radio Antenna Mount	\$1,400.00	\$37,800.00	\$650.00	\$17,550.00	\$550.00	\$14,850.00	\$572.00	\$15,444.00	\$600.00	\$16,200.00	\$520.00	\$14,040.00	\$2,000.00	\$54,000.00
116	6J00112	27	Each	End Node Radio Installation	\$4,800.00	\$129,600.00	\$1,350.00	\$36,450.00	\$1,300.00	\$35,100.00	\$1,364.00	\$36,828.00	\$1,300.00	\$35,100.00	\$1,240.00	\$33,480.00	\$1,000.00	\$27,000.00
117	6J00137	1	L.S.	Electrical Work At Load Center MP 97.56 NSO	\$2,500.00	\$2,500.00	\$5,500.00	\$5,500.00	\$5,000.00	\$5,000.00	\$5,170.00	\$5,170.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$11,000.00	\$11,000.00
118	6J00138	1	L.S.	Electrical Work At Interchange 16W Toll Plaza Building	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00	\$9,000.00	\$9,000.00	\$9,350.00	\$9,350.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00
119	6J00141	1	L.S.	Fiber Modification At MP 120.00 SN95L	\$4,000.00	\$4,000.00	\$22,500.00	\$22,500.00	\$19,000.00	\$19,000.00	\$20,570.00	\$20,570.00	\$20,000.00	\$20,000.00	\$22,000.00	\$22,000.00	\$6,000.00	\$6,000.00
120	6J00142	27	Each	Network Switch	\$5,800.00	\$156,600.00	\$3,850.00	\$103,950.00	\$4,000.00	\$108,000.00	\$4,048.00	\$109,296.00	\$4,000.00	\$108,000.00	\$3,680.00	\$99,360.00	\$6,500.00	\$175,500.00
121	6J00143	1	Each	Pad Mounted Transformer Preparation	\$3,000.00	\$3,000.00	\$5,250.00	\$5,250.00	\$5,000.00	\$5,000.00	\$5,335.00	\$5,335.00	\$5,000.00	\$5,000.00	\$4,850.00	\$4,850.00	\$3,000.00	\$3,000.00
122	7C01TOP	13,652.00	S.Y.	Topsoil	\$5.50	\$75,086.00	\$6.00	\$81,912.00	\$2.50	\$34,130.00	\$5.50	\$75,086.00	\$5.00	\$68,260.00	\$2.50	\$34,130.00	\$5.00	\$68,260.00
123	7D01SED	151	S.Y.	Seeding, Type A	\$1.00	\$151.00	\$4.00	\$604.00	\$6.00	\$906.00	\$2.20	\$332.20	\$1.00	\$151.00	\$1.00	\$151.00	\$1.00	\$151.00
124	7D08SED	546	S.Y.	Seeding, Type L	\$1.00	\$546.00	\$2.25	\$1,228.50	\$0.80	\$436.80	\$2.20	\$1,201.20	\$1.00	\$546.00	\$1.20	\$655.20	\$1.00	\$546.00

					ı	AMOUNT RATE AMOUNT RATE				Г600.102B					Railroad Constr	uction Company,		
Base I	ine Item	Detail				ark III, Inc.		, and the second		uction Co., Inc.		ection Group, Inc		ner and Son, Inc.	Ir	nc.		I. Bishop Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
125	7D13SED	12,955.00	S.Y.	Seeding, Type Parkway South - Mainline	\$1.00	\$12,955.00	\$4.00	\$51,820.00	\$0.50	\$6,477.50	\$1.10	\$14,250.50	\$1.00	\$12,955.00	\$1.00	\$12,955.00	\$1.00	\$12,955.00
126	7F01SSM	6,000.00	S.Y.	Soil Stablization Matting	\$3.50	\$21,000.00	\$3.50	\$21,000.00	\$1.00	\$6,000.00	\$3.58	\$21,480.00	\$4.00	\$24,000.00	\$3.50	\$21,000.00	\$5.00	\$30,000.00
407	O. A COMPT	10 000 00	L.F.	Furnishing Temporary Concrete	\$31.00	¢240,000,00	\$40.00	¢400,000,00	\$25.00	\$250,000.00	\$30.20	\$202,000,00	\$30.00	¢200 000 00	\$12.00	¢420,000,00	\$25.00	\$250,000.00
127	8A10MPT	10,000.00	L.F.	Barrier, Type 4	\$31.00	\$310,000.00	\$40.00	\$400,000.00	\$25.00	\$250,000.00	\$30.20	\$302,000.00	\$30.00	\$300,000.00	\$12.00	\$120,000.00	\$25.00	\$250,000.00
128	8A11MPT	45,535.00		Placing and Removing Concrete Barrier, Type 4	\$12.50	\$569,187.50	\$20.00	\$910,700.00	\$15.00	\$683,025.00	\$16.00	\$728,560.00	\$20.00	\$910,700.00	\$20.00	\$910,700.00	\$30.00	\$1,366,050.00
129	8B15MPT	7,100.00	M.H.	Traffic Protection Patrol	\$1.00	\$7,100.00	\$1.00	\$7,100.00	\$0.01	\$71.00	\$27.59	\$195,889.00	\$10.00	\$71,000.00	\$30.00	\$213,000.00	\$10.00	\$71,000.00
130	8B16MPT	200	M.H.	Uniformed Flagman	\$40.00	\$8,000.00	\$80.00	\$16,000.00	\$50.00	\$10,000.00	\$83.59	\$16,718.00	\$100.00	\$20,000.00	\$64.00	\$12,800.00	\$60.00	\$12,000.00
131	8B17MPT	10		Furnishing Truck with Mounted Attenuator	\$3,000.00	\$30,000.00	\$10,000.00	\$100,000.00	\$12,500.00	\$125,000.00	\$0.01	\$0.10	\$1,000.00	\$10,000.00	\$5,000.00	\$50,000.00	\$5,000.00	\$50,000.00
132	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$220,000.00	\$220,000.00	\$150,000.00	\$150,000.00	\$500,000.00	\$500,000.00	\$37,216.74	\$37,216.74	\$200,000.00	\$200,000.00	\$500,000.00	\$500,000.00	\$675,000.00	\$675,000.00
133	8B25MPT	10	Each	Furnish Variable Message Sign	\$6,500.00	\$65,000.00	\$5,000.00	\$50,000.00	\$5,000.00	\$50,000.00	\$10,916.10	\$109,161.00	\$500.00	\$5,000.00	\$9,000.00	\$90,000.00	\$5,000.00	\$50,000.00
134	8B31MPT	1	L.S.	Maintenance and Protection of Traffic	\$585,000.00	\$585,000.00	\$500,000.00	\$500,000.00	\$485,705.24	\$485,705.24	\$655,851.66	\$655,851.66	\$1,500,000.00	\$1,500,000.00	\$1,528,000.00	\$1,528,000.00	\$975,000.00	\$975,000.00
135	N8A00010	67	Each	Placing and Removing Temporary Crash Cushion, Frangible Modular Type	\$450.00	\$30,150.00	\$2,000.00	\$134,000.00	\$10,000.00	\$670,000.00	\$2,257.24	\$151,235.08	\$1,500.00	\$100,500.00	\$1,000.00	\$67,000.00	\$500.00	\$33,500.00
136	N8A0009	15		Furnishing Temporary Crash Cushion, Frangible Modular Type	\$3,600.00	\$54,000.00	\$4,000.00	\$60,000.00	\$5,000.00	\$75,000.00	\$4,137.16	\$62,057.40	\$5,000.00	\$75,000.00	\$10,000.00	\$150,000.00	\$5,000.00	\$75,000.00
.50	NOCOOD			Furnishing Temporary Impact	\$5,500.00	Ç5 .,300.00	Ţ.,550.00	+	45,500.00	Ţ. 5,000.00	÷ .,	45-,551110	43,300.00	Ţ. 5,300.00	7.5,555.00	Ţ. 33,333.30		Ţ. 2,000.00
137	N8A0012	6	Each	Attenuator, Quadguard	\$30,000.00	\$180,000.00	\$38,000.00	\$228,000.00	\$12,000.00	\$72,000.00	\$32,890.00	\$197,340.00	\$15,000.00	\$90,000.00	\$45,000.00	\$270,000.00	\$6,000.00	\$36,000.00
420	Notacia	40	Each	Placing And Removing Temporary Impact Attenuator,	Ø4 400 00	Ø46 000 00	¢4 500 00	\$40,000.co	ØE 000 00	\$60,000,00	\$2.000.40	\$24,000,00	# 2 F 00 00	\$20,000.co	Ø4 000 00	\$40,000.co	¢2 000 00	\$26,000,00
138	N8A0013	12	Each	Quadguard	\$1,400.00	\$16,800.00	\$1,500.00	\$18,000.00	\$5,000.00	\$60,000.00	\$2,666.10	\$31,993.20	\$2,500.00	\$30,000.00	\$1,000.00	\$12,000.00	\$3,000.00	\$36,000.00

T600.102B

Base	Line Item I	Detail			PKF-Ma	ark III, Inc.	Griffin	Sign Inc.	Agate Constru	uction Co., Inc.	IEW Constru	ction Group, Inc	J. Fletcher Crear	mer and Son, Inc.	Railroad Constr	uction Company, nc.	Gardner M	1. Bishop Inc.
Item No.	em No. Unit Code QTY UNIT DESCRIPTION			DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
139				End Node Radio Relocation	\$4,600.00	\$23,000.00	\$1,500.00	\$7,500.00	\$1,300.00	\$6,500.00	\$1,364.00	\$6,820.00	\$1,300.00	\$6,500.00	\$1,240.00	\$6,200.00	\$1,000.00	\$5,000.00
				Base Total		\$12,689,317.50		\$13,301,529.85		\$13,471,330.00		\$14,266,394.62		\$14,373,665.66		\$15,978,480.05		\$16,584,266.50